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Determine the coordinates of the midpoint M between the following points:
A) A(5,5) and B(7,3)






B) C(6,-5) and D(-2,9)






C) E(8,-1) and F(9,4.5)






D) G(-6,-6) and H(-2,-7)
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Homework
Pg 173 # 2aceh, 3, 5, 6, 9, 11
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Finding the Midpoint of a Line Segment

When M is the midpoint of a line segment with endpoints A
(x1,y1yand B(xz,y2), the coordinates of M are:

M = (x,+ x5) , (y1.+ v2)
2 2

Essentially, you are finding the average of the x and y points.

Example:
Given the segment AB - A(1,2) and B(5,4), calculate the
coordinates of the middle M of this segment:
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The endpoints of a segment AB are A(4,3) and B(-2,-6).
Determine the coordinates of the three points that divide
the segment into four equal parts:

The midpoint of the segment BC is M(5,7). If B has the
coordinates of (2,5), find C.




